MM-115

Installation, Operation
and Maintenance
Instructions

- JET SHOT PUMP MARKER
1 QUART '
FOR METAL DETECTORS

P/N 812433

ERIEZ MAGNETICS HEADQUARTERS: 2200 ASBURY ROAD, P.0. BOX 10608, ERIE, PA 16514-0608 U.S.A.
WORLD AUTHORITY IN ADVANCED TECHNOLOGY FOR MAGNETIC, VIBRATORY and METAL DETECTION APPLICATIONS



TABLE OF CONTENTS

Page
DESCRIPTION ..oieeciirerersensnresessesrasesesserssnenssevsssssnessassssas sassssesssissssannes 3
INSTALLATION ..utvieeeeeenresvsrermrsssssissnessassssssnsssssseasasassssassscasnsssssasssssanns 3
SYSTEM DIAGRAM ...oevrtvrirereenressisessiniastessasesatssssessnenssstsnsnsnssnssssanssas 4
PUMP BREAKDOWN ....ooriiecrmnisesesneneissneessssnesassssssansssssansnsssssssnasssesas 5
RESEVOIR ASSEMBLY occiiverenisiiannsnisssensnessntsssssassc st aaes ssnsssnssens 6
PUMP ASSEMBLY .eeveeiererirerserisessssinnesssmsssssasssasasnensasssssssssnnsssssnsassas 7
WIRING SCHEMATIC ..oircrrcreecnimsiesiinesinassssesssennessssssamssasssanses nsassans 8



ES-454 Jet Shot Marker Pump

DESCRIPTION

This versatile marking unit, upon signal fires a prede-
termined amount of marking fluid through a formed
orifice with high pressure to produce a ribbon of mark-
ing fluid. This mark is deposited on part surfaces lo-
cated approximately 1 to 6 inches (25 to 150 mm) away
from tip.

A dot of color is deposited on the part between dime to
half doliar size with somewhat ragged edges.

The ES-454 Jet Shot has a built-in condition that sends
part of the fluid in the chamber back through the iniet
tube, creating a “backsurge” in the reservoir, thereby
mixing the marking fluid on each stroke.

This condition also makes this pump virtually self-prim-
ing. However, should priming be required, loosen the
tube adapter on JT models and the orifice tip on JO
models.

The output may be adjusted with the elastic stop nut
on the rear side of the pump.

The internal seal at the rear is of the spring loaded cup
seal design. It is made of graphiie impregnated teflon
for self-lubrication, low friction and long life.

The air cylinder is of standard make, and is “throw away”
in design, long life and easy replacement being fore-
most in Eriez requirements.

A 110VAC Solenoid valve is standard on the ES-454
Jet Shot. However, we do offer as an option an air
piloted valve for special applications.

This pump is used in many of our standard marking
systems, and is a very capable unit.

CAUTION
Safety labels must be affixed to
this product. Should the safety
label(s) be damaged, dislodged
or removed, contact Eriez for
replacement.

INSTALLATION

Mount pump securely, using 5/16” (8 mm) screws and
mounting holes provided in frame.

Mount reservoir a minimum of 12” (300 mm) above the
pump, using bracket supplied and 1/4” (6 mm) screws.

Mount in such a position as {o leave fluid line free of
“loops” and as short as practical, 5 or 6 feet (1500 mm
or 1800 mm) maximum to give better “mixing” action.

Due to back surge mixing action, this fluid line must be
3/8” (10 mm) dia. tubing minimum, and fittings that have
large internal passages used.

We recommend straight type. No elbows.

The botile is designed to lift off bracket for hand shak-
ing to occasionally mix fiuid.

Hook 40 to 80 PSI (2.7 to 5.4 Bar) constant, lightly
lubricated air supply to “P” port on solenoid valve, or to
“in” port on air piloted valve if used.

110 volt 60 cycle electrical signal to “trigger” valve must
be connected, using safe plant standards for wiring and
interlocks, to existing equipment.

Connect fluid line to pump.

Fill reservoir 1/3 to 1/2 {full, and turn on quarter turn
shut-off valve.

Pull priming clip, and fire gun 5 or 6 times to fill tube
and purge air from system. Replace priming clip when
fluid emerges from tip.

Adjust stroke to give good mark on part, leaving prim-
ing clip in place.

We suggest pulling priming clip about once a week,
and firing manually 5 or 6 times to purge system of
sediments and remove any air that may be trapped in
system.

Keep reservoir between 1/3 to 2/3 full of fluid and vent
hole open for best results.

Following these instructions, this pump will give good
service and have a longer life.



Filler Cap

ES -373-RQ-11
1 Q. (.946 |) Plastic Reservoir
P/N 812436

3/8 OD Ink Line
15 Feet (4.5 m) supplied

Stroke adjustment

Priming Clip

12 Jet Shot Tube
with Adapter

Formed Orifice

PN
TN

N

System Diagram

7 .o
P
Cover
Retaining
Chain
e

For 1/4 Screws on 1-
5/16 Centers on 45°

Quarter Turn Shutoff
-~¢——110 V Signal

L= /.
&&D
= ' 80 PSI Air Supply
e 1/4 NPT
ES -376-VS -6
3-Way Valve
PIN 812435

Manual Operator

Air Cylinder

For 5/16 Screws on
1-3/8 Centers

ES-454-c-100 "0 - Orifice

- JT -Tube
(Replacement pump unit only)
P/N 812433

Latest Engineering Change 1
Model Description —] \ VE P JT SYSTEM P/N 812433

ES-454-

VE = ES-376-V5-6
P = ES-374-RQ-11
JT = Tube Adapter with Tube

C- - -
VA M JO
T JO = Jet Tip with Orifice
M = ES-374-RQ-7 — 1 Qt. Metal Reservoir
VA = ESHV-125-A — 3-Way Air Pilot

Drawing No. 2N-882760




l
|

Jet Tip (Orifice) (12/1)

Spring Tension Plug (13/1) ~_

Tip Guard (14/1)

Mounting Cap (15A/1)
Mounting Block (15B/1)

-
-

/,// g/Soc. Hd. Scr. (19/2)
-
Ve
-~
~
1 -
~

[

i

| - P

| 2 -

l

\r - Tube Adapter (1/1)

Pump Beakdown

8/32 x 1" Lg.
Soc. Hd. Scr. (5/3)
Rtainer Block (4/1)

Compression Spring (11/1)

-~
Priming Clip (21/1) ,///

o~

Poppet Valve (10/1)

@
- | Elastic Stop Nut (3/1)

Y | \
/} Cup Seal (6/1)
d 3/8 Tube - 1/8 NPT
- Ink Fitting (22/1) Pump Piston (8/1)
~

~ /
-~
/ -
Pl - Compression Spring (9/1)
e

. ~

5/16-18 x 3/4"

Pump Body (7/1) 1/8 to 1/4 Hex Adapter (23/1)

v
Air Cylinder (1/1)
v
/& Jam Nut (24/1)
-
-~
~

W e
-~
5/16-18 x 1-1/4" Soc. Hd. Scr. (18/2)

Air Cylinder Mounting Plate (17/1)

1/8 - 116 Male
Connector (2/1)

12" Ig. Jet Shot
Tube (3/1)

LEGEND FOR NUMBERS.

Mounting Plate (16/1) FOLLOWING DESCRIPTIONS

XX/X
Detail No./No. Required

5/16-18 x 1" Lg. Soc. Hd. Scr. (20/2)

Drawing No. 2N-882761 v




Reservoir Assembly

3-3/4 Dia.
~(95)

Cover

| ——— Bottle -1 qt.
16-7/8
(428)

7 | Cap & Bushing
Assembly

Adapter
Assembly —————P"

4-5/8 Shut Off Valve
(117)

A
\

< 1/4 NPT

1-7/8
] B ST 78 e
_@_ v _—

~;

9/32 Diameter Hole - Mounting Assembly
Drill to suit at assembly with Stud

Drawing No. 2N-882762




1-3/8
(35)

Bend
tube
to suit

110 VAC

ol

CE
!
3-5/8
| (92)
¢f\\
L/

i 1

I |

1 H

| I

i i 5/16 Screws
| i /

|

1

Tube Adapter

A

15 OAL
(381)

&
L=

. ;! 110 6ins.
(25 to 150) |/

Pump Assembly ﬁ §2

Air Sup

ply

40-80 PSI, 1/4 NPT

-

.
L.

-

Ink Inlet

1/8 NPT_\

Surface to be marked

_
L

A L

Drawing No. 2N-882762

1-3/4
(44)




Wiring Schematic
.- TR O PN RNN BN KR PR e l
i -1
: I 1i5vAC Ink Mark Solenoid
1 : Photo-Eye Index
1
| g W |
Metal : I Ly I'I
Detector 1 1
w/Pkg. Index ¢ ]
! i
I
1 Neut. D i
1
e 2 e O RN B J
Timed
Metal Detector
Contact
1/2 Sec. (Typ)
(_§ § ¢ % 8 1 3 B | '
] :
- 1 115vac  Ink Mark Solenoid
1 |
! i
™
Metal = I L}
Detector 1 1
w/Pkg. Index i 1
] 1
1 1
1 Neut. D i
|
LT L 1T L P13 7. 1] J
Timed
Metal Detector
Contact
1/2 Sec. (Typ)
Note:
Refer to Metal Detector Instructions for output signal wiring & timing.
See schematic drawing supplied with conveyor for wiring details.
Drawing No. 2N-9506790
Eriez and Eriez M are registered of Eriez ing Co., Erie, PA . ©1995 ERIEZ MAGNETICS  ALL RIGHTS RESERVED

World Authority in Advanced Technology for Magnetic, Vibratory and Metal Detection Applications

HEADQUARTERS: 2200 ASBURY ROAD, P.O. BOX 10608, ERIE, PA 16514-0608 U.S.A.
Telephone 814/835-6000 » 800/345-4946 « FAX 814/838-4960 * International Fax 814/833-3348

MANUFACTURING AFFILIATES IN:  AUSTRALIA +» CANADA =« JAPAN ¢ MEXICO =« SOUTHAFRICA « UNITED KINGDOM

1085-5C-G100-DP ERIEZ MANUFACTURING CO. PRINTED IN USA



